SIGNATURE PAGE

RFQ# F-26-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	APS Corporation	
	(PRINT)	
Preparer's Name:	Julia Rodriguez	
Signature:	Julie Rolliga (PRINT) 11/17/22	
Address:	14 Culnen Drive, Branchburg, NJ 08876	ATE
Telephone No.:	908-725-2222	
Fax No.:	908-725-2818	
E-Mail Address:	sjacquish@apscorporation.com	
	***(This should be the email where Contracts would be sent)	***
Contact Person:	Scott R. Jacquish	
FEIN:		
(Federal Employee ID)		

REQUEST FOR BID

---- This Is Not An Order



RFB# F-26-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

PREVENTIVE MAINTENANCE, TESTING, INSPECTION, SERVICE AND REPAIR OF FIRE ALARM SYSTEMS AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2024 WITH ONE (1) TWO-YEAR RENEWAL OPTION

RFB must be received no later than:	November 30, 2022 10:30AM

For Delivery to:

AS INDICATED IN JOB SPECIFICATIONS

Delivery Date:	· · · · · · · · · · · · · · · · · · ·	1/1/2023-1	2/31/2024		
•			• •		

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
	AL FIRE ALARM INSPECTIONS WITH PREVENTIVE MAIN CTION REPORT	TENANCE. ALL INSPECTIONS SH	ALL INCLUDE AN NF	PA-72
	AGRICULTURAL BUILDING 4000 KOZLOSKI ROAD FREEHOLD, NJ	2 INSPECT	\$450.00	\$900.00
	CHILD ADVOCACY CENTER 500 KOZLOSKI ROAD FREEHOLD, NJ	2 INSPECT	\$1,625.00	\$3,250.00
	PUBLIC SAFETY BUILDING 2500 KOZLOSKI ROAD FREEHOLD, NJ	2 INSPECT	\$5,425.00	\$10,850.0
	COUNTY CLERK OFFICE 33 MECHANIC STREET FREEHOLD, NJ	2 INSPECT	\$360.00	\$720.00
	COURTHOUSE (EAST, WEST, SOUTH WINGS) 71 MONUMENT PARK FREEHOLD, NJ **NOTE** 3RD WEEK OF NOVEMBER	2 INSPECT	\$12,600	\$25,200.0
6	EASTERN BRANCH LIBRARY 1001 HIGHWAY 35 SHREWSBURY, NJ	2 INSPECT	\$4,100.00	\$8,200.00
	FIRE ACADEMY 1027 HIGHWAY 33 HOWELL, NJ	2 INSPECT	\$2,600.00	\$5,200.00
8 .	FIRE ACADEMY PISTOL RANGE 1027 HIGHWAY 33 HOWELL, NJ	2 INSPECT	\$345.00	\$690.00

County of Monmouth REQUEST FOR BID

---- This Is Not An Order -



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

PREVENTIVE MAINTENANCE, TESTING, INSPECTION, SERVICE AND REPAIR OF FIRE ALARM SYSTEMS AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31. 2024 WITH ONE (1) TWO-YEAR RENEWAL OPTION

ITEM#	DESCRIP	TION	QUAN	TITY/UNIT	UNIT PRICE	TOTAL PRICE
9	HALL OF RECORDS 1 E. MAIN STREET FREEHOLD, NJ			2 INSPECT	\$2,675.00	\$5,350.00
	NOTE TEST & INSPECTION C PERFORMED ON THE WEEKEND QUOTE A WEEKEND RATE.					
10	HALL OF RECORDS ANNEX 1 E. MAIN STREET FREEHOLD, NJ	,	· · · · · · · · · · · · · · · · · · ·	2 INSPECT	\$725.00	\$1,450.00
	NOTE TEST & INSPECTION C PERFORMED ON THE WEEKEND QUOTE A WEEKEND RATE.					
11	HUMAN SERVICE BUILDING 3000 KOZLOSKI ROAD FREEHOLD, NJ	,	(2 INSPECT	\$3,875.00	\$7,750.00
12 .	LIBRARY HEADQUARTERS 125 SYMMES ROAD MANALAPAN, NJ	, 1 - , <i>F</i>	,	2 INSPECT	\$1,050.00	\$2,100.00
13	POLICE ACADEMY 2000 KOZLOSKI ROAD FREEHOLD, NJ		,	2 INSPECT	\$4,180.00	\$8,360.00
14	PROBATION OFFICE 30 MECHANIC STREET FREEHOLD, NJ	We Believe This Site Has If it Has Not Been Sold, we		2 INSPECT	\$0.00	\$0.00
15	PROJECT OPEN HOUSE 40 MONUMENT STREET FREEHOLD, NJ	We Believe This Site Has B If it Has Not Been Sold, we v		2 INSPECT	\$0.00	\$0.00
16	PROSECUTOR'S OFFICE 710 MAIN STREET ASBURY PARK, NJ			2 INSPECT	\$860.00	\$1,720.00
17	PROSECUTOR'S OFFICE - MCPO 132 JERSEYVILLE AVENUE FREEHOLD, NJ	·		2 INSPECT	\$5,875.00	\$11,750.0

REQUEST FOR BID

---- This Is Not An Order --



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

PREVENTIVE MAINTENANCE, TESTING, INSPECTION, SERVICE AND REPAIR OF FIRE ALARM SYSTEMS AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2024 WITH ONE (1) TWO-YEAR RENEWAL OPTION

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	PUBLIC WORKS/SCAT GARAGE - BUILDING A 250 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$745.00	\$1,490.00
19	PUBLIC WORKS/FLEET SERVICES - BUILDING B 250 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$975.00	\$1,950.00
20	PUBLIC WORKS/BODY SHOP - BUILDING C 250 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$180.00	\$360.00
21	PUBLIC WORKS/SCAT OFFICE - BUILDING D 250 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$200,00	\$400.00
22	PUBLIC WORKS/TRUCK WASH - BUILDING E 250 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$1,150.00	\$2,300.00
23	SHARK RIVER BRIDGE OCEAN AVENUE AVON, NJ	2 INSPECT	\$800.00	\$1,600.00
24	SHORE COMMUNICATIONS 1825 CORLIES AVE. NEPTUNE, NJ	2 INSPECT	\$650.00	\$1,300.00
25	SPECIAL SERVICES BUILDING 300 HALLS MILL ROAD FREEHOLD, NJ	2 INSPECT	\$650.00	\$1,300.00
26	TRAFFIC SAFETY COMPLEX 240 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$1,050.00	\$2,100.00
27	THE STARS BUILDING 119 DUTCH LANE ROAD FREEHOLD, NJ	2 INSPECT	\$2,150.00	\$4,300.00
28	TRAFFIC SIGNS 240 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$650.00	\$1,300.00

REQUEST FOR BID

---- This Is Not An Order



RFB# F-26-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

PREVENTIVE MAINTENANCE, TESTING, INSPECTION, SERVICE AND REPAIR OF FIRE ALARM SYSTEMS AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31. 2024 WITH ONE (1) TWO-YEAR RENEWAL OPTION

ITEM# DESCRIPTION		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE	
29	HEALTH DEPARTMENT 50 EAST MAIN STREET, FREEHOLD	2 EACH	\$1,200.00	\$2,400.00	
30	ADULT SHELTER 1005 MURPHY DR. FORT MONMOUTH OCEANPORT, NJ	2 EACH	\$380.00	\$760.00	
31	HEAVY EQUIPMENT BUILDING 250 CENTER STREET FREEHOLD, NJ	2 INSPECT	\$680.00	\$1,360.00	
32	HIGHWAY - DISTRICT #6 750 WILSON AVENUE (FORT MONMOUTH) EATONTOWN, NJ	2 INSPECT	\$200.00	\$400.00	
33	RECLAMATION HAZMAT BUILDING 2857 SHAFTO ROAD TINTON FALLS, NJ	2 INSPECT	\$2,150.00	\$4,300.00	
34	RECLAMATION TRUCK WASH 5242 ASBURY AVE. TINTON FALLS, NJ	2 INSPECT	\$1,925.00	\$3,850.00	
35	HOUSEHOLD HAZARDOUS WASTE BUILDING 3211 SHAFTO ROAD TINTON FALLS, NJ	2 INSPECT	\$1,800.00	\$3,600.00	
	ANNUAL: FIRE ALARM INSPECTIONS WITH PREVENTIV -72 INSPECTION REPORT		SHALL INCLUDE	AN	
36	LINKAGES 4261 HIGHWAY 33 EAST TINTON FALLS, NJ	4 INSPECT	\$3,045.00	\$12,180.0	
PART	S AND MATERIALS			The state of the s	
				1 1	

REQUEST FOR BID

---- This Is Not An Order -



RFB# F-26-2023

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

PREVAILING WAGE

PREVENTIVE MAINTENANCE, TESTING, INSPECTION, SERVICE AND REPAIR OF FIRE ALARM SYSTEMS AT VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2023 THROUGH DECEMBER 31, 2024 WITH ONE (1) TWO-YEAR RENEWAL OPTION

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
37	PARTS:			
-	IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM ENTER THE NET COST TO THE COUNTY COMPUTED AS FOLLOWS:	•		
	ESTIMATED PARTS AMOUNT AT MANUFACTURER'S SUGGESTED LIST PRICE: \$10,000.00			
	LESS DISCOUNT OF			
,	NET COST TO COUNTY (ESTIMATED) \$ 8,500.00 *			\$9 500 00
,	*/PUT THIS AMOUNT IN THE "TOTAL PRICE" COLUMN FOR THIS ITEM. THE ACTUAL CONTRACT AND			\$8,500.00
	PURCHASE ORDER MAY USE A SOMEWHAT DIFFERENT AMOUNT AS AN ALLOWANCE FOR PARTS, BUT BIDS WILL BE EVALUATED ON THIS AMOUNT	n		
(r -	R; THE COUNTY WILL NOT PAY SEPARATELY FOR TRAVE NTY SITES. LABOR RATES QUOTED SHOULD INCLUDE AN	"我们们"建一个"自己","一个""我们,我们们一个"一""一","这一""我们是这样,		200
38	LABOR - REGULAR (8:00AM - 4:30PM) HOURS ON SITE ONLY	60 HOUR(S)	\$125.00	\$7,500.00
39	LABOR - OVERTIME - WEEKENDS AND HOLIDAY HOURS ON SITE ONLY	30 HOUR(S)	\$175,00	\$5,250.00
	·	TOTAL:	\$161,990.00	
****	SEE ATTACHED SPECIFICATIONS *****	-		